Ratio to ATLAS

1/od?o/ dm™d |y vGev]

=
o
R

=
o
e

10

[EEY

0.5

13000 GeV pp tt
T I T I T | T I T I T I I T | T I I I I T | g
B M(ttbar) (ATLAS semileptonic ttbar) B %
=
__ m ATLAS 5
—  --©O-- Herwig++ 2.7.1 default N
B Herwig++ 2.7.1 UE-EE-5 B S!
- --3-- Herwig 7.2.1 default - ;
] JE
- ey
- 1z
- -
- — ©
u &
—
=
B X
S,
L _15
:
= mpy
o
B 1
B | | | | | | | | | ' | |_ E
- | ' ' ' ' | ' ' ' ' =
- T2
B : .
— —0.5
: | : L L L L : | : L L L : L : |
1000 2000 0 3000
m2 Y 1Gevy, [y™" in [0,0.65]



	Contents
	Page 1


